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The figures in the margin indicate full marks for the questions

1. Answer as directed : ' 1x12=12

m@%@iﬁm:

(a) Find the 15th term of :
2, 12, 36, 80, -

2, 12, 36, 80, -3 159% #wchl [y 41 1
(b) Find the value of r, if

ra T Refq 741, 3
9
Cyr+3 ="Ca-3

(c) Find the 10th term of

1 12
(=3
X
1 12 :
(x—;) -3 10%% *Meo! T 911
(@) 1f (af) -
Lt w fx)=x-|x|
then (of&), f(~x)= ;

( Fill in the blank )
(=& o e )

co/45 - ( Turn Over )



(2)

(e) Define a universal set with an example.

THIZITR ARG 2o el il |

(f) Define secondary data.
¢ o e fot |

(g) The expression
n —
Y (x; - X)
i=1
- always equal to zero. Prove.

i(xi—:—c)mﬁmmw*ﬂ@lﬁwwa
i=1

(h) Define coefficient of correlation.
ST QeI Fee il |

(i) What does a vital rate assert?
(o) s & afferm 03 2

() What does an index number 31gn1fy? :
PR [ o 2

(k) Give an example of irregular variétion in time series.
I IR SfEfS to (SroN)d @bl Srrge firmn | -
(1) The abscissa of the point of intersection of ‘less than’
ogive and ‘more than’ ogive gives median.
- ( State true or false )

(TTSCF) ¥ Ww’ﬁ—w (SroCF) TeT 2 o fared (el
.—ﬁmﬂwﬁqul

(375 7 STy foreyy )

S el - : ( Continued )



(3)

2. If (3fw)
logx _ logy logz
(b-¢) (c-a) (a-b)

then prove that (CSfa 2919 T )
xb+c . yc+a

_za+b ____1

3. If the pth, gth and rth terms of a GP are respectively a, b,
and ¢ (I @B ST AR pov, g-ON WF r-wY WA
$RA a, b, I¥ ¢ TW), then prove that (ckoiw!lT 2T @)

a?T.pP . cPa = 3

4. Find the value of n (n—?{fn?{ efg 1), if (?Tﬁ)
"c‘-"lc4_85 o
‘holds true (ﬁ— © 31 37 ) | ' | 3

5. From 7 gentlemen and 4 ladies a committee of 5 is to be
formed. In how many ways can this be done so as to
include at least one lady? ' 3

7mww4w®—mﬁwaawsmﬁmwﬁmﬁﬁamm
R o7 Temeaes SR 2107 IR *[1 IR IS FHeIrTe 9T SEiRaR
FfRbe F= = 2

6. In how many ways can 3 boys and 4 girls be arranged SO
that no two boys will come together? .- S 3

3T T WF 4T @A 9w 7 oo /=R (‘J\WW)
S TOH o' (IOAIS GTFoqes AT 2 -
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(4)

7. Evaluate : 3
T+ e
2
-4
Lt =
x—22 x+2 - J3x-2
8. Find : 1%x2=3
w1
., d |tanx e*
1) — log| —
(i) [V1+sin2xdx
9. Write a note on measures of dispersioﬁ. 3
b3 [ sTaeEm @b Ot foran o
10. Define median and state two of its uses. o 1+2=3
TR TR T S TR 51 IR e 90
11. Write a note on measure of kurtosis. ' 3
FIH IO AR T @b B ey o
~ 12. Write a note on secular trend in a time series. 3

I TR WA TR @S 9t B v

13. Deduce the functional relation between coefficient of
correlation and coefficients of regression. aitos sy " B

SRR BIRE WF AR QT o IR T SR <o) |
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(5)
14, Define : - ‘ ¢, 3
e gy '

(a) Crude birthrate
TS T 7|

(b) Crude death rate
NS Yo 7R

(c) Specific death rate
RIS

15. State various sources of demographic data in India. 3
TS FPIRRIGH IR Rien SRR Tray w1 |

16. Write a note on gross reproduction rate. o | 3

%o 2 Q99 TI0a b (O 74 |

17. State at least four sho-rtcdmings of index numbers. 3

HEPRIT FOVG BIRG1 ARl Sea 41 |

18. (a) Find the coefficient of the term independent of x in the

expansion of
10
x —
X

(x--z-)m PTREA (TTS x IS *MIBR 2ot e |

X
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( 6)

@) If (i) ~1<r <1 and (51%)

x=a+ar+ar?+, y=b-br+br? ...

then show that (Cofo® (7Yed )
a b

xtyT? . 2+3=5

19. (@) Find %, if y=cos”1(3_t§ﬂ)_

5+3cosx

Y sfrea, o y= cos‘l(M}
dx 5+3cosx
(b) Evaluate :

= fefg 10
| it i
1 x(1+logx) 014+014=5

20. Find mean, median and mode of the following
distribution : ' _ 5
wore TRl IBTOR T, T W I T 341 R

Class intervall | Frequency
e wEE | IAERe
0-8 . g
8-16 7
1624 16
24-32 04
32-40 15

40-48 -
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(7))

21. Fit a trend line of the following time series and estimate
the trend value in 2018 : L ' S

Wﬁmwm%zwaﬁ@ﬁzmhﬁﬁﬁmwwwm
1 20183 I AT s1gerer [efg 911 -

Year : 2011 2012 2013 2014 2015 2016 2017
9’y
~ Production . ; ‘
(in.tons) : 100 120 135 140 125 120 125
Te o (57)

22. Find Laspeyres’ and Paasche’s price index numbers for the
following data : .. - : 3]

e ©w AR mwwﬁwﬁwﬁﬁw:

Base Year (4R 77 ) Current Year ( 5o 357 )

Commodity s i
75 Price (in ¥) ~ Quantity Price (in €) Quantity
7w (BRTe) (in kg) 7o (5¥re) (in kg)
a9 () s (FErs)
A 10 25 6 30
B 15 10 15 S
C S 40 S 50
D 6 30 9 35
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( 8)

23. The following data give the proportionate change in output
(X) and employment (Y) for a number of industries :
Ty ARAS (20N TreR Seen (X) bl fcs (Y) s
T oy i Tagm

Industry T | I m v 1’4 vi vo.
Seme .
Output : 230 160 145 140 140 135 100
BT
Employment : 15 60 20 .30 25 25 35
Tzt .

Find the coefficient of correlation between X and Y. 5

X ¥ Y I EF T075F 89T Sfereqy |

24. Write an explanatory note on fertility rates and its
measurements in vital statistics. S

Cor ~IPROA TIT1 T A e <rafsigey RIS 3901 e |

25. Distinguish between classification and tabulation of
statistical data. What purposes do classification and

tabulation serve? Mention the important basis of
classification. 2+2+1=5

AR O3 <P ST AT o °n2(¢r CTYSAT | IFI
AT 6 2tfdem 017 IR ST SREm S w4 |

* % %
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